| Academic Students | Additi High Educa and Emplo | ner ntion Not | | o tional her | Additi High Educa an Emple | ner ation d | Empl and Addit Hig Educ | l/or ional her | Students Not Found | | Total Former Students |
|---------------------------|---|---------------------|------------|--------------------|--|-------------------|-------------------------------------|----------------------|--------------------------|-------|-----------------------------|
| 03010400 - Environmental | Science | | | | | | | | | | |
| Graduate | 0 | 0.0% | 1 | 100.0% | 0 | 0.0% | 1 | 100.0% | 0 | 0.0% | 1 |
| Total | 0 | 0.0% | 1 | 100.0% | 0 | 0.0% | 1 | 100.0% | 0 | 0.0% | 1 |
| 09010100 - Speech Comm | unication a | ınd Rheto | oric | | | | | | | | |
| Graduate | 0 | 0.0% | 1 | 50.0% | 1 | 50.0% | 2 | 100.0% | 0 | 0.0% | 2 |
| Total | 0 | 0.0% | 1 | 50.0% | 1 | 50.0% | 2 | 100.0% | 0 | 0.0% | 2 |
| 11010100 - Computer and | Informatio | n Science | es, Genera | ıl | | | | | | | |
| Graduate | 0 | 0.0% | 2 | 33.3% | 2 | 33.3% | 4 | 66.7% | 2 | 33.3% | 6 |
| Non-returner | 4 | 16.7% | 7 | 29.2% | 5 | 20.8% | 16 | 66.7% | 8 | 33.3% | 24 |
| Total | 4 | 13.3% | 9 | 30.0% | 7 | 23.3% | 20 | 66.7% | 10 | 33.3% | 30 |
| 11100300 - Computer and | Informatio | n System | s Security | /Auditing/ | Informatio | n Assura | nce | | | | |
| Non-returner | 0 | 0.0% | 1 | 50.0% | 0 | 0.0% | 1 | 50.0% | 1 | 50.0% | 2 |
| Total | 0 | 0.0% | 1 | 50.0% | 0 | 0.0% | 1 | 50.0% | 1 | 50.0% | 2 |
| 12040100 - Cosmetology/0 | Cosmetolog | gist, Gene | eral | | | | | | | | |
| Non-returner | 0 | 0.0% | 1 | 16.7% | 1 | 16.7% | 2 | 33.3% | 4 | 66.7% | 6 |
| Total | 0 | 0.0% | 1 | 16.7% | 1 | 16.7% | 2 | 33.3% | 4 | 66.7% | 6 |
| 13120600 - Teacher Educa | tion, Multi _l | ole Levels | 6 | | | | | | | | |
| Graduate | 2 | 8.0% | 5 | 20.0% | 11 | 44.0% | 18 | 72.0% | 7 | 28.0% | 25 |
| Non-returner | 3 | 6.1% | 29 | 59.2% | 4 | 8.2% | 36 | 73.5% | 13 | 26.5% | 49 |
| Total | 5 | 6.8% | 34 | 45.9% | 15 | 20.3% | 54 | 73.0% | 20 | 27.0% | 74 |
| 14110100 - Engineering Mo | echanics | | | | | | | | | | |
| Non-returner | 8 | 33.3% | 4 | 16.7% | 4 | 16.7% | 16 | 66.7% | 8 | 33.3% | 24 |
| Total | 8 | 33.3% | 4 | 16.7% | 4 | 16.7% | 16 | 66.7% | 8 | 33.3% | 24 |
| 15040300 - Electromechan | ical/Electro | omechan | ical Engin | eering Ted | chnology/T | Technicia: | n | | | | |
| Non-returner | 0 | 0.0% | 3 | 100.0% | 0 | 0.0% | 3 | 100.0% | 0 | 0.0% | 3 |
| Total | 0 | 0.0% | 3 | 100.0% | 0 | 0.0% | 3 | 100.0% | 0 | 0.0% | 3 |
| 15100100 - Construction E | ingineering | j Technol | ogy/Techi | nician | | | | | | | |
| Non-returner | 0 | 0.0% | 3 | 100.0% | 0 | 0.0% | 3 | 100.0% | 0 | 0.0% | 3 |
| Total | 0 | 0.0% | 3 | 100.0% | 0 | 0.0% | 3 | 100.0% | 0 | 0.0% | 3 |
| 22030100 - Legal Administ | trative Ass | istant/Sed | cretary | | | | | | | | |
| Non-returner | 0 | 0.0% | 6 | 66.7% | 3 | 33.3% | 9 | 100.0% | 0 | 0.0% | 9 |
| Total | 0 | 0.0% | 6 | 66.7% | 3 | 33.3% | 9 | 100.0% | 0 | 0.0% | 9 |
| 23130400 - Rhetoric and C | ompositio | n | | | | | | | | | |
| Non-returner | 2 | 33.3% | 3 | 50.0% | 1 | 16.7% | 6 | 100.0% | 0 | 0.0% | 6 |
| Total | 2 | 33.3% | 3 | 50.0% | 1 | 16.7% | 6 | 100.0% | 0 | 0.0% | 6 |

| Academic Students | Additi High Educa and l Emplo | ner ntion Not | Empl N Addit Hig Educ | o ional her | Additional Higher Education and Employed | | Emplo and Addit Higi Educa | /or ional her | Students Not Found | | Total Former Students |
|----------------------------|---|---------------------|-----------------------------------|-------------------|--|-------|--|---------------------|--------------------------|-------|-----------------------------|
| 24010100 - Liberal Arts an | d Sciences | :/I iberal S | Studies | | | | | | | | |
| Completer | 25 | 33.8% | 15 | 20.3% | 25 | 33.8% | 65 | 87.8% | 9 | 12.2% | 74 |
| Total | 25 | 33.8% | 15 | 20.3% | 25 | 33.8% | 65 | 87.8% | 9 | 12.2% | 74 |
| 24010200 - General Studie | es | | | | | | | | | | |
| Graduate | 9 | 6.0% | 84 | 56.0% | 35 | 23.3% | 128 | 85.3% | 22 | 14.7% | 150 |
| Non-returner | 30 | 34.5% | 14 | 16.1% | 21 | 24.1% | 65 | 74.7% | 22 | 25.3% | 87 |
| Total | 39 | 16.5% | 98 | 41.4% | 56 | 23.6% | 193 | 81.4% | 44 | 18.6% | 237 |
| 26010100 - Biology/Biolog | ical Scienc | es, Gene | ral | | | | | | | | |
| Graduate | 2 | 22.2% | 2 | 22.2% | 3 | 33.3% | 7 | 77.8% | 2 | 22.2% | 9 |
| Non-returner | 10 | 14.3% | 21 | 30.0% | 17 | 24.3% | 48 | 68.6% | 22 | 31.4% | 70 |
| Total | 12 | 15.2% | 23 | 29.1% | 20 | 25.3% | 55 | 69.6% | 24 | 30.4% | 79 |
| 26130500 - Environmental | Biology | | | | | | | | | | |
| Non-returner | 0 | 0.0% | 3 | 60.0% | 0 | 0.0% | 3 | 60.0% | 2 | 40.0% | 5 |
| Total | 0 | 0.0% | 3 | 60.0% | 0 | 0.0% | 3 | 60.0% | 2 | 40.0% | 5 |
| 43010400 - Criminal Justic | ce/Safety S | tudies | | | | | | | | | |
| Graduate | 2 | 28.6% | 3 | 42.9% | 1 | 14.3% | 6 | 85.7% | 1 | 14.3% | 7 |
| Non-returner | 2 | 9.1% | 12 | 54.5% | 3 | 13.6% | 17 | 77.3% | 5 | 22.7% | 22 |
| Total | 4 | 13.8% | 15 | 51.7% | 4 | 13.8% | 23 | 79.3% | 6 | 20.7% | 29 |
| 45110100 - Sociology, Ger | neral | | | | | | | | | | |
| Graduate | 1 | 10.0% | 3 | 30.0% | 4 | 40.0% | 8 | 80.0% | 2 | 20.0% | 10 |
| Non-returner | 3 | 20.0% | 5 | 33.3% | 3 | 20.0% | 11 | 73.3% | 4 | 26.7% | 15 |
| Total | 4 | 16.0% | 8 | 32.0% | 7 | 28.0% | 19 | 76.0% | 6 | 24.0% | 25 |
| 51060100 - Dental Assistir | ng/Assistar | nt | | | | | | | | | |
| Non-returner | 0 | 0.0% | 1 | 100.0% | 0 | 0.0% | 1 | 100.0% | 0 | 0.0% | 1 |
| Total | 0 | 0.0% | 1 | 100.0% | 0 | 0.0% | 1 | 100.0% | 0 | 0.0% | 1 |
| 51080500 - Pharmacy Tecl | hnician/Ass | sistant | | | | | | | | | |
| Non-returner | 0 | 0.0% | 1 | 100.0% | 0 | 0.0% | 1 | 100.0% | 0 | 0.0% | 1 |
| Total | 0 | 0.0% | 1 | 100.0% | 0 | 0.0% | 1 | 100.0% | 0 | 0.0% | 1 |
| 51090400 - Emergency Me | dical Tech | | chnician | (EMT Para | medic) | | | | | | |
| Non-returner | 0 | 0.0% | 8 | 61.5% | 1 | 7.7% | 9 | 69.2% | 4 | 30.8% | 13 |
| Total | 0 | 0.0% | 8 | 61.5% | 1 | 7.7% | 9 | 69.2% | 4 | 30.8% | 13 |
| 51350100 - Massage Thera | apy/Therap | eutic Mas | sage | | | | | | | | |
| Non-returner | 1 | 33.3% | 2 | 66.7% | 0 | 0.0% | 3 | 100.0% | 0 | 0.0% | 3 |
| Total | 1 | 33.3% | 2 | 66.7% | 0 | 0.0% | 3 | 100.0% | 0 | 0.0% | 3 |

| Academic Students | Additi High Educa and I Emplo | ner Ition Not | Employed No Additional Higher Education | | Additional Higher Education and Employed | | Employed and/or Additional Higher Education | | Students Not Found | | Total Former Students |
|----------------------------|---|---------------------|---|--------|--|-------|---|--------|--------------------------|-------|-----------------------------|
| 51390100 - Licensed Pract | ical/Vocati | onal Nurs | se Training | 1 | | | | | | | |
| Non-returner | 0 | 0.0% | 3 | 37.5% | 1 | 12.5% | 4 | 50.0% | 4 | 50.0% | 8 |
| Total | 0 | 0.0% | 3 | 37.5% | 1 | 12.5% | 4 | 50.0% | 4 | 50.0% | 8 |
| 52010100 - Business/Com | merce, Ger | neral | | | | | | | | | |
| Graduate | 1 | 3.3% | 13 | 43.3% | 13 | 43.3% | 27 | 90.0% | 3 | 10.0% | 30 |
| Non-returner | 14 | 20.9% | 24 | 35.8% | 10 | 14.9% | 48 | 71.6% | 19 | 28.4% | 67 |
| Total | 15 | 15.5% | 37 | 38.1% | 23 | 23.7% | 75 | 77.3% | 22 | 22.7% | 97 |
| 52020100 - Business Adm | | | | | | | | | | | |
| Non-returner | 1 | 20.0% | 2 | 40.0% | 0 | 0.0% | 3 | 60.0% | 2 | 40.0% | 5 |
| Total | 1 | 20.0% | 2 | 40.0% | 0 | 0.0% | 3 | 60.0% | 2 | 40.0% | 5 |
| 52020300 - Logistics, Mate | erials, and \$ | Supply Cl | nain Mana | gement | | | | | | | |
| Non-returner | 0 | 0.0% | 1 | 100.0% | 0 | 0.0% | 1 | 100.0% | 0 | 0.0% | 1 |
| Total | 0 | 0.0% | 1 | 100.0% | 0 | 0.0% | 1 | 100.0% | 0 | 0.0% | 1 |
| 52150100 - Real Estate | | | | | | | | | | | |
| Non-returner | 0 | 0.0% | 3 | 60.0% | 1 | 20.0% | 4 | 80.0% | 1 | 20.0% | 5 |
| Total | 0 | 0.0% | 3 | 60.0% | 1 | 20.0% | 4 | 80.0% | 1 | 20.0% | 5 |
| 99999999 - Undeclared Ma | jor | | | | | | | | | | |
| Undeclared | 0 | 0.0% | 1 | 25.0% | 1 | 25.0% | 2 | 50.0% | 2 | 50.0% | 4 |
| Total | 0 | 0.0% | 1 | 25.0% | 1 | 25.0% | 2 | 50.0% | 2 | 50.0% | 4 |
| | | | | | | | | | | | |

| Technical Students | Additi High Educa and I Emplo | ner ntion Not | Emplo No Additi High Educa | onal ner | High Educa an | Additional Higher Education and Employed | | oyed I/or ional her ation | Students Not Found | | Total Former Students |
|---------------------------|---|---------------------|--|-------------|---------------------|--|-----|---------------------------------------|--------------------------|-------|-----------------------------|
| 11010100 - Computer and | Informatio | n Science | s Ganaral | ı | | | | | | | |
| Graduate | 1 | 25.0% | 2 | 50.0% | 1 | 25.0% | 4 | 100.0% | 0 | 0.0% | 4 |
| Total | 1 | 25.0% | 2 | 50.0% | 1 | 25.0% | 4 | 100.0% | 0 | 0.0% | 4 |
| 11100300 - Computer and | Informatio | n System | s Security/ | /Auditing/ | Informatio | n Assura | nce | | | | |
| Graduate | 0 | 0.0% | 1 | 50.0% | 1 | 50.0% | 2 | 100.0% | 0 | 0.0% | 2 |
| Total | 0 | 0.0% | 1 | 50.0% | 1 | 50.0% | 2 | 100.0% | 0 | 0.0% | 2 |
| 12040100 - Cosmetology/0 | Cosmetolog | gist, Gene | ral | | | | | | | | |
| Graduate | 5 | 16.1% | 12 | 38.7% | 4 | 12.9% | 21 | 67.7% | 10 | 32.3% | 31 |
| Non-returner | 5 | 10.4% | 21 | 43.8% | 1 | 2.1% | 27 | 56.2% | 21 | 43.8% | 48 |
| Total | 10 | 12.7% | 33 | 41.8% | 5 | 6.3% | 48 | 60.8% | 31 | 39.2% | 79 |
| 15040300 - Electromechan | ical/Electro | omechani | cal Engine | ering Ted | chnology/T | Technicia | n | | | | |
| Graduate | 3 | 25.0% | 6 | 50.0% | 0 | 0.0% | 9 | 75.0% | 3 | 25.0% | 12 |
| Non-returner | 0 | 0.0% | 1 | 33.3% | 1 | 33.3% | 2 | 66.7% | 1 | 33.3% | 3 |
| Total | 3 | 20.0% | 7 | 46.7% | 1 | 6.7% | 11 | 73.3% | 4 | 26.7% | 15 |
| 15040400 - Instrumentatio | n Technolo | gy/Techn | ician | | | | | | | | |
| Graduate | 6 | 13.6% | 24 | 54.5% | 11 | 25.0% | 41 | 93.2% | 3 | 6.8% | 44 |
| Non-returner | 1 | 7.1% | 7 | 50.0% | 2 | 14.3% | 10 | 71.4% | 4 | 28.6% | 14 |
| Total | 7 | 12.1% | 31 | 53.4% | 13 | 22.4% | 51 | 87.9% | 7 | 12.1% | 58 |
| 15100100 - Construction E | ingineering | Technol | ogy/Techn | ician | | | | | | | |
| Non-returner | 1 | 12.5% | 4 | 50.0% | 1 | 12.5% | 6 | 75.0% | 2 | 25.0% | 8 |
| Total | 1 | 12.5% | 4 | 50.0% | 1 | 12.5% | 6 | 75.0% | 2 | 25.0% | 8 |
| 22030100 - Legal Administ | trative Assi | istant/Sec | retary | | | | | | | | |
| Non-returner | 0 | 0.0% | 1 | 33.3% | 0 | 0.0% | 1 | 33.3% | 2 | 66.7% | 3 |
| Total | 0 | 0.0% | 1 | 33.3% | 0 | 0.0% | 1 | 33.3% | 2 | 66.7% | 3 |
| 22030300 - Court Reportin | g and Capt | _ | ourt Repor | ter | | | | | | | |
| Graduate | 5 | 17.9% | 13 | 46.4% | 6 | 21.4% | 24 | 85.7% | 4 | 14.3% | 28 |
| Total | 5 | 17.9% | 13 | 46.4% | 6 | 21.4% | 24 | 85.7% | 4 | 14.3% | 28 |
| 24010200 - General Studie | s | | | | | | | | | | |
| Non-returner | 96 | 26.6% | 78 | 21.6% | 83 | 23.0% | 257 | 71.2% | 104 | 28.8% | 361 |
| Total | 96 | 26.6% | 78 | 21.6% | 83 | 23.0% | 257 | 71.2% | 104 | 28.8% | 361 |
| 41030100 - Chemical Tech | nology/Ted | chnician | | | | | | | | | |
| Graduate | 0 | 0.0% | 3 | 37.5% | 4 | 50.0% | 7 | 87.5% | 1 | 12.5% | 8 |
| Non-returner | 0 | 0.0% | 1 | 50.0% | 1 | 50.0% | 2 | 100.0% | 0 | 0.0% | 2 |
| Total | 0 | 0.0% | 4 | 40.0% | 5 | 50.0% | 9 | 90.0% | 1 | 10.0% | 10 |

| Technical Students | Additi Higl Educa and Empl | ner ntion Not | Empl N Addit Hig Educ | o tional her | Additional Employed Higher and/or Education Additional and Higher Employed Education | | Students Not Found | | Total Former Students | | |
|----------------------------|--|---------------------|-----------------------------------|--------------------|--|-------|--------------------------|--------|-----------------------------|--------|-----|
| 48050800 - Welding Techn | ology/Wel | der | | | | | | | | | |
| Graduate | 1 | 20.0% | 2 | 40.0% | 1 | 20.0% | 4 | 80.0% | 1 | 20.0% | 5 |
| Non-returner | 0 | 0.0% | 0 | 0.0% | 0 | 0.0% | 0 | 0.0% | 4 | 100.0% | 4 |
| Total | 1 | 11.1% | 2 | 22.2% | 1 | 11.1% | 4 | 44.4% | 5 | 55.6% | 9 |
| 49030900 - Marine Science | e/Merchant | Marine O | fficer | | | | | | | | |
| Graduate | 0 | 0.0% | 3 | 27.3% | 2 | 18.2% | 5 | 45.5% | 6 | 54.5% | 11 |
| Non-returner | 1 | 50.0% | 0 | 0.0% | 0 | 0.0% | 1 | 50.0% | 1 | 50.0% | 2 |
| Total | 1 | 7.7% | 3 | 23.1% | 2 | 15.4% | 6 | 46.2% | 7 | 53.8% | 13 |
| 51060100 - Dental Assistir | ng/Assistar | nt | | | | | | | | | |
| Graduate | 1 | 4.2% | 15 | 62.5% | 6 | 25.0% | 22 | 91.7% | 2 | 8.3% | 24 |
| Non-returner | 3 | 27.3% | 4 | 36.4% | 3 | 27.3% | 10 | 90.9% | 1 | 9.1% | 11 |
| Total | 4 | 11.4% | 19 | 54.3% | 9 | 25.7% | 32 | 91.4% | 3 | 8.6% | 35 |
| 51080500 - Pharmacy Tecl | hnician/Ass | sistant | | | | | | | | | |
| Graduate | 1 | 10.0% | 3 | 30.0% | 4 | 40.0% | 8 | 80.0% | 2 | 20.0% | 10 |
| Non-returner | 4 | 23.5% | 6 | 35.3% | 3 | 17.6% | 13 | 76.5% | 4 | 23.5% | 17 |
| Total | 5 | 18.5% | 9 | 33.3% | 7 | 25.9% | 21 | 77.8% | 6 | 22.2% | 27 |
| 51090400 - Emergency Me | dical Tech | nology/Te | chnician | (EMT Para | medic) | | | | | | |
| Graduate | 1 | 12.5% | 5 | 62.5% | 0 | 0.0% | 6 | 75.0% | 2 | 25.0% | 8 |
| Non-returner | 1 | 6.2% | 11 | 68.8% | 2 | 12.5% | 14 | 87.5% | 2 | 12.5% | 16 |
| Total | 2 | 8.3% | 16 | 66.7% | 2 | 8.3% | 20 | 83.3% | 4 | 16.7% | 24 |
| 51350100 - Massage Thera | apy/Therap | eutic Mas | sage | | | | | | | | |
| Graduate | 0 | 0.0% | 6 | 100.0% | 0 | 0.0% | 6 | 100.0% | 0 | 0.0% | 6 |
| Non-returner | 0 | 0.0% | 0 | 0.0% | 0 | 0.0% | 0 | 0.0% | 1 | 100.0% | 1 |
| Total | 0 | 0.0% | 6 | 85.7% | 0 | 0.0% | 6 | 85.7% | 1 | 14.3% | 7 |
| 51380100 - Registered Nui | rsing/Regis | tered Nu | rse | | | | | | | | |
| Non-returner | 1 | 1.4% | 36 | 48.6% | 2 | 2.7% | 39 | 52.7% | 35 | 47.3% | 74 |
| Total | 1 | 1.4% | 36 | 48.6% | 2 | 2.7% | 39 | 52.7% | 35 | 47.3% | 74 |
| 51390100 - Licensed Pract | tical/Vocati | onal Nurs | se Training | g | | | | | | | |
| Graduate | 9 | 11.2% | 32 | 40.0% | 24 | 30.0% | 65 | 81.2% | 15 | 18.8% | 80 |
| Non-returner | 19 | 9.4% | 82 | 40.4% | 36 | 17.7% | 137 | 67.5% | 66 | 32.5% | 203 |
| Total | 28 | 9.9% | 114 | 40.3% | 60 | 21.2% | 202 | 71.4% | 81 | 28.6% | 283 |
| 52020100 - Business Adm | inistration | and Mana | agement, (| General | | | | | | | |
| Graduate | 4 | 23.5% | 7 | 41.2% | 5 | 29.4% | 16 | 94.1% | 1 | 5.9% | 17 |
| Non-returner | 1 | 8.3% | 7 | 58.3% | 2 | 16.7% | 10 | 83.3% | 2 | 16.7% | 12 |
| Total | 5 | 17.2% | 14 | 48.3% | 7 | 24.1% | 26 | 89.7% | 3 | 10.3% | 29 |

| Technical Students | Additio Highe Educat and N Employ | igher No ucation Additional | | o ional her | Additional Higher Education and Employed | | Employed and/or Additional Higher Education | | Students Not Found | | Total Former Students |
|----------------------------|---|--------------------------------|----------|-------------------|--|-------|---|--------|--------------------------|--------|-----------------------------|
| 52020300 - Logistics, Mate | rials, and S | upply Ch | ain Mana | gement | | | | | | | |
| Graduate | 0 | 0.0% | 0 | 0.0% | 1 | 50.0% | 1 | 50.0% | 1 | 50.0% | 2 |
| Non-returner | 0 | 0.0% | 0 | 0.0% | 0 | 0.0% | 0 | 0.0% | 1 | 100.0% | 1 |
| Total | 0 | 0.0% | 0 | 0.0% | 1 | 33.3% | 1 | 33.3% | 2 | 66.7% | 3 |
| 52150100 - Real Estate | | | | | | | | | | | |
| Graduate | 1 | 7.7% | 5 | 38.5% | 1 | 7.7% | 7 | 53.8% | 6 | 46.2% | 13 |
| Non-returner | 0 | 0.0% | 2 | 100.0% | 0 | 0.0% | 2 | 100.0% | 0 | 0.0% | 2 |
| Total | 1 | 6.7% | 7 | 46.7% | 1 | 6.7% | 9 | 60.0% | 6 | 40.0% | 15 |
| 52200100 - Construction M | anagement | , General | | | | | | | | | |
| Graduate | 0 | 0.0% | 1 | 20.0% | 4 | 80.0% | 5 | 100.0% | 0 | 0.0% | 5 |
| Total | 0 | 0.0% | 1 | 20.0% | 4 | 80.0% | 5 | 100.0% | 0 | 0.0% | 5 |

| Tech-Prep Students | Additi High Educa and l Emple | ner ntion Not | Employed No Additional Higher Education | | Additional Higher Education and Employed | | Employed and/or Additional Higher Education | | Students Not Found | | Total Former Students |
|---------------------------|---|---------------------|---|----------|--|-------|---|--------|--------------------------|--------|-----------------------------|
| 11010100 - Computer and | Informatio | n Science | s. Genera | I | | | | | | | |
| Graduate | 3 | 37.5% | 3 | 37.5% | 1 | 12.5% | 7 | 87.5% | 1 | 12.5% | 8 |
| Non-returner | 0 | 0.0% | 6 | 66.7% | 0 | 0.0% | 6 | 66.7% | 3 | 33.3% | 9 |
| Total | 3 | 17.6% | 9 | 52.9% | 1 | 5.9% | 13 | 76.5% | 4 | 23.5% | 17 |
| 41030100 - Chemical Tech | hnician | | | | | | | | | | |
| Graduate | 10 | 14.3% | 37 | 52.9% | 17 | 24.3% | 64 | 91.4% | 6 | 8.6% | 70 |
| Non-returner | 1 | 3.4% | 18 | 62.1% | 1 | 3.4% | 20 | 69.0% | 9 | 31.0% | 29 |
| Total | 11 | 11.1% | 55 | 55.6% | 18 | 18.2% | 84 | 84.8% | 15 | 15.2% | 99 |
| 43010200 - Corrections | | | | | | | | | | | |
| Graduate | 2 | 22.2% | 1 | 11.1% | 4 | 44.4% | 7 | 77.8% | 2 | 22.2% | 9 |
| Non-returner | 2 | 3.9% | 21 | 41.2% | 8 | 15.7% | 31 | 60.8% | 20 | 39.2% | 51 |
| Total | 4 | 6.7% | 22 | 36.7% | 12 | 20.0% | 38 | 63.3% | 22 | 36.7% | 60 |
| 48050800 - Welding Techn | ology/Weld | der | | | | | | | | | |
| Graduate | 0 | 0.0% | 4 | 57.1% | 3 | 42.9% | 7 | 100.0% | 0 | 0.0% | 7 |
| Non-returner | 7 | 9.7% | 24 | 33.3% | 5 | 6.9% | 36 | 50.0% | 36 | 50.0% | 72 |
| Total | 7 | 8.9% | 28 | 35.4% | 8 | 10.1% | 43 | 54.4% | 36 | 45.6% | 79 |
| 51090400 - Emergency Me | dical Tech | nology/Te | echnician (| EMT Para | medic) | | | | | | |
| Graduate | 0 | 0.0% | 0 | 0.0% | 0 | 0.0% | 0 | 0.0% | 1 | 100.0% | 1 |
| Total | 0 | 0.0% | 0 | 0.0% | 0 | 0.0% | 0 | 0.0% | 1 | 100.0% | 1 |
| 51380100 - Registered Nui | rsing/Regis | tered Nu | rse | | | | | | | | |
| Graduate | 0 | 0.0% | 43 | 67.2% | 3 | 4.7% | 46 | 71.9% | 18 | 28.1% | 64 |
| Total | 0 | 0.0% | 43 | 67.2% | 3 | 4.7% | 46 | 71.9% | 18 | 28.1% | 64 |
| 52020100 - Business Adm | inistration | and Mana | igement, G | Seneral | | | | | | | |
| Graduate | 2 | 28.6% | 1 | 14.3% | 2 | 28.6% | 5 | 71.4% | 2 | 28.6% | 7 |
| Non-returner | 1 | 7.7% | 5 | 38.5% | 1 | 7.7% | 7 | 53.8% | 6 | 46.2% | 13 |
| Total | 3 | 15.0% | 6 | 30.0% | 3 | 15.0% | 12 | 60.0% | 8 | 40.0% | 20 |

| Summary Page | Additi High Educa and I Emplo | ner ition Not | Employed No Additional Higher Education | | Additional Higher Education and Employed | | Employed and/or Additional Higher Education | | Students Not Found | | Total Former Students |
|---------------------------|---|---------------------|---|-------|--|-------|---|-------|--------------------------|-------|-----------------------------|
| Total Academic Students | | | | | | | | | | | |
| Graduate | 17 | 7.1% | 114 | 47.5% | 70 | 29.2% | 201 | 83.8% | 39 | 16.2% | 240 |
| Completer | 25 | 33.8% | 15 | 20.3% | 25 | 33.8% | 65 | 87.8% | 9 | 12.2% | 74 |
| Non-returner | 78 | 18.2% | 157 | 36.6% | 75 | 17.5% | 310 | 72.3% | 119 | 27.7% | 429 |
| Undeclared | 0 | 0.0% | 1 | 25.0% | 1 | 25.0% | 2 | 50.0% | 2 | 50.0% | 4 |
| Total | 120 | 16.1% | 287 | 38.4% | 171 | 22.9% | 578 | 77.4% | 169 | 22.6% | 747 |
| Total Technical Students | | | | | | | | | | | |
| Graduate | 38 | 12.3% | 140 | 45.2% | 75 | 24.2% | 253 | 81.6% | 57 | 18.4% | 310 |
| Non-returner | 133 | 17.0% | 261 | 33.4% | 137 | 17.5% | 531 | 67.9% | 251 | 32.1% | 782 |
| Total | 171 | 15.7% | 401 | 36.7% | 212 | 19.4% | 784 | 71.8% | 308 | 28.2% | 1,092 |
| Total Tech-Prep Students | | | | | | | | | | | |
| Graduate | 17 | 10.2% | 89 | 53.6% | 30 | 18.1% | 136 | 81.9% | 30 | 18.1% | 166 |
| Non-returner | 11 | 6.3% | 74 | 42.5% | 15 | 8.6% | 100 | 57.5% | 74 | 42.5% | 174 |
| Total | 28 | 8.2% | 163 | 47.9% | 45 | 13.2% | 236 | 69.4% | 104 | 30.6% | 340 |
| Total Technical/Tech-Prep | Students | | | | | | | | | | |
| Graduate | 55 | 11.6% | 229 | 48.1% | 105 | 22.1% | 389 | 81.7% | 87 | 18.3% | 476 |
| Non-returner | 144 | 15.1% | 335 | 35.0% | 152 | 15.9% | 631 | 66.0% | 325 | 34.0% | 956 |
| Total | 199 | 13.9% | 564 | 39.4% | 257 | 17.9% | 1,020 | 71.2% | 412 | 28.8% | 1,432 |
| Grand Total | | | | | | | | | | | |
| Graduate | 72 | 10.1% | 343 | 47.9% | 175 | 24.4% | 590 | 82.4% | 126 | 17.6% | 716 |
| Completer | 25 | 33.8% | 15 | 20.3% | 25 | 33.8% | 65 | 87.8% | 9 | 12.2% | 74 |
| Non-returner | 222 | 16.0% | 492 | 35.5% | 227 | 16.4% | 941 | 67.9% | 444 | 32.1% | 1,385 |
| Undeclared | 0 | 0.0% | 1 | 25.0% | 1 | 25.0% | 2 | 50.0% | 2 | 50.0% | 4 |
| Total | 319 | 14.6% | 851 | 39.1% | 428 | 19.6% | 1,598 | 73.3% | 581 | 26.7% | 2,179 |